

PO Date:	5/13/2008				
Thu	Thursday, 01 February 2018				
PO #:	1003				

Vendor:	Ship To:	
ABC Printing Services	Intuit QuickBase	
123 Main St	100 5th Avenue	
Suite 123	7th Floor	
Houston, TX 70070	Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008		~i:76:30~	
Client	Project			
Intuit QuickBase	TEST ABC			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
10.00	Business Cards	Biz cards	\square	\$1.00	\$10.00	&	
10.00					\$10.00		



PO Date:	5/13/2008				
Thu	Thursday, 01 February 2018				
PO #:	1003				

Vendor:	Ship To:	
ABC Printing Services	Intuit QuickBase	
123 Main St	100 5th Avenue	
Suite 123	7th Floor	
Houston, TX 70070	Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008		~l:76:30~	
Client	Project			
Intuit QuickBase	TEST ABC			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Non Taxab	ble						
250.00	<u>Books</u>	Inserts		\$0.15	\$37.50		
250.00	Binders	3 rings binders		\$5.00	\$1,250.00		
12.00	<u>Binders</u>	Hello Sarah		\$200.00	\$2,400.00		
1.00	Business Cards	dajhkjafd		\$30.00	\$30.00		
150.00	Pens	Pens with logos		\$0.50	\$75.00		
123.00	<u>Books</u>	Test		\$12.00	\$1,476.00		
786.00					\$5,268.50		



PO Date:	5/13/2008			
Thu	Thursday, 01 February 2018			
PO #:	1003			

Vendor:	Ship To:	
ABC Printing Services	Intuit QuickBase	
123 Main St	100 5th Avenue	
Suite 123	7th Floor	
Houston, TX 70070	Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008		~i:76:30~	
Client	Project			
Intuit QuickBase	TEST ABC			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
Taxable			· · ·				
375.50	<u>CDs</u>	CDs and Cases		\$2.50	\$938.75		
2,000.00	Envelopes	A4 Envelopes		\$0.25	\$500.00		
10.00	<u>Paper</u>	8 1/2 x 11 20lb laser - Case		\$5.00	\$50.00		
250.00	Jewel Cases	additional cases		\$0.25	\$62.50	2	
250.00	Pens	Promotional Pens		\$0.25	\$62.50	2	
2,000.00	Business Cards	Business cards for vp		\$0.25	\$500.00	2	
5.00	Poster Boards	3x5 poster boards		\$85.00	\$425.00	2	
13.00	<u>Books</u>	Oreilly book on Networking		\$39.99	\$519.87		
1,000.00	Customized Pens	Logo Pens		\$1.25	\$1,250.00	2	
21.00	Pens	Special logo pens		\$1.25	\$26.25	2	
5.00	Paper	5 Reams of 8x14		\$3.50	\$17.50		
50.00	Pens	Red Pens with Logo		\$1.25	\$62.50	V	
50.00	Pens	Green pens with logo		\$1.25	\$62.50		



PO Date:	5/13/2008		
Thu	Irsday, 01 February 2018		
PO #:	1003		

Vendor:	Ship To:	
ABC Printing Services	Intuit QuickBase	
123 Main St	100 5th Avenue	
Suite 123	7th Floor	
Houston, TX 70070	Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008		~l:76:30~	
Client	Project			
Intuit QuickBase	TEST ABC			

Quantity	Item	Description	*	Unit Price	Total Price	Other FA	FA
5.00	<u>Golf Balls</u>	Dozen	\boxtimes	\$19.99	\$99.95		
2.00	<u>Golf Balls</u>	Dozen with Logo	\boxtimes	\$29.99	\$59.98		
125.00	Binders	Test		\$100.00	\$12,500.00		
10.00	<u>CDs</u>			\$50.00	\$500.00		
100.00	Envelopes			\$0.10	\$10.00		
200.00	Jewel Cases			\$2.50	\$500.00		
100.00	Golf Balls			\$100.00	\$10,000.00		
6,571.50					\$28,147.30		

	Subtotal	\$33,425.80
Taxable Subtotal\$28,147.3	Sales Tax	\$2,427.70
(Sales Tax Rate: 8.625% 8.625%) Total	\$35,853.50
Thirty Five Thousand Eig	ht Hundred Fifty Three	e Dollars and Fifty Cents

- 1. Enter this order in accordance with the prices, terms, delivery method and specification listed above.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to Juiced Technologies, Inc. at the address below.

Authorized By

Juiced Technologies, Inc. • 3505 Veterans Hwy, Suite O • Ronkonkoma, NY 11779 • Ph 631.617.5060 • Fax 631.617.5062

Date



PO Date:	5/13/2008		
Th	Thursday, 01 February 2018		
PO #:	1003		

Vendor:	Ship To:	
ABC Printing Services	Intuit QuickBase	
123 Main St	100 5th Avenue	
Suite 123	7th Floor	
Houston, TX 70070	Waltham, MA 02451	

Shipping Method	Delivery Date	Approved	Downloaded From images.qb.com	Downloaded From a File Attachment field
FedEx	6/30/2008		~i:76:30~	
Client	Project			
Intuit QuickBase	TEST ABC			

Some special Functions

Date Modified:	Thursday, 01 February 2018 16:24:37
Today is:	Thursday, 01 February 2018 15:29:55

Number Formatting:5,000,005.00Currency:Five Million Five Dollars and No CentsNumber:Five Million FiveTest:\$1,111,111

Test1